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Concept Question
seilng Price - 10 p.u. ER1T = Earning before
varrable Co%4: € p.u. Inferest & Tax
Tota Frxed Codt-. 100 (Rent) EBT = EQrning before Tax
T0t@) lnterest: 1§ ERT = Earnmng ofter Tax .
TeX @ 207 Es = Equty shore
No OF B3 : 10 EPS: Earning Per share
No oF UNItS 301d = 100 UNI'tS Ok= OperatrnQ lexeroge
Caltulate oIl leverages . FL= Frnoncra) leyerage
CL = (ombrned Ieyer0ge

Solution:

Income storement: (100UNTHS)

Partreators Toted
. 4Qles 10 1000
 -vorrople cost  (8)  (8co)
~ Contrrbetron R X00 |
- Fixed Cost 166 — oL = Contribudrad _ 900 | 9 4rmes
. EBIT 160 EBIT 100 |
- tnferest (78> = FL = EB1T e 100 .y #rimes |
. EBT 5 ERT qG
- Tox ®R0~ (5) ¢ = Contribution = 00 _ 3 Hmes
. EBPT 0 E®T {65
- Preference Drvrdend - or
~_EQrning For ES Y0 Ch=> Ok X FL
'+ NOOF E3$ =10 2 XXy = R Hmes .

EPS <2

EBIT 13 qr3o known Qs Operatrng rncome.
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@) Cby < bc;q Yroo>
Income storement: (10OUNTE) (120 UNITS)
rereels Toted Tota) ZsChange

. 4%qles 10 1000 1400 07 |,
_ -yoriople cost (8)  (8c0) 960) | 0% |2 |
 Contriberron % 00 40 07 [€ gL = V40N EBTT
- Fixed Cost 160 100 7. ATD Sales
. EBIT 1660 40 40, 5 4rmes
- tnteress (76 (76) - 20
. EBT 5 65 160
- Tox ®0~ (5) (13) [607. | K gL e YoltD EPS
. EBT RO 5 Q 1667, . (4) vsarn EBIT
- Preference Divrdend - - L 160 _ 4 1rroes.
~_Eorning For E$ vo 52 1607 4o
¥ NOOF E3$ =10 1o -

EPS < LY} 160% . et = ¥ AN EPS

(3) Yearn sale4

6o | o3
76 8 +rmo



& TRP Sir

CA Rahul Panchal

<
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Operatrng (everage Froonc/o) Lleyerage lombrned (everage
o) _EBIT a) (obfribtetion
EBT ERBT
p) o4 EPS b) Yo AIN EPS
% A 3afes Yo A4 EBIT % 4 10 3ares

-6 3Qy oL=2trmes
I7o change rn 3ales
leads to

7. change 1h EBIY

PP3 L
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O30y FL=4 tmes
7« change tn EBTT
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Tllustration 1 A Company produces and sells
| Question 1. (Illustration 1)
| A Company produces and sells 10,000 shirts. The selling price per shirt is ¥ 500. Variable cost is
1-X 200 per shirt and fixed operating cost is ¥ 25,00,000.
| (a) CALCULATE operating leverage.
(b) If sales are up by 10%, then COMPUTE the impact on EBIT?

. Solution:

(loN+) : Income statement @) Operotroq leverage |
Partreuiors 10,000 Unrts | Contribubron 36,005,000 | 4 4rmes
sales (500) BOLO000 ERIT SO0, 000
vatrople cost  (R00)  30,00,000
contrrbunon (300) 30,00000 b Impack on EBIT
Frxed CoOs+ ('?SOO,OOO) operarng  » v, o EBIT
EBIT SOB000 leverage . A 30le3

5 o LA EBIY
10
SNAID EBTIT = IOX6= 60%
EBIT wrlt rocreose by 66% .
| Illustration 3 A firm's details are as under |

Question 3. (Illustration 3)
| A firm’s details are as under:

—Sales (@100 per unit) % 24,00,000
| Variable Cost 50%
Fixed Cost ¥10,00,000

| It has borrowed % 10,00,000 @ 10% p.a. and its equity share capital is ¥ 10,00,000 (X 100 each).
' Consider tax @ 50 %.

| CALCULATE:
(@) Operating Leverage
| (b) Financial Leverage
—(c) Combined Leverage
| _(d) Return on Investment
(e) If the sales increases by X 6,00,000; what will the new EBIT?
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e New EBIT:
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L N : Income dtatement:
Portreulacs T0taQ)
jdares HO0,000
~ yoriable Cost (2400000 xsox) (1200000 )
.~ Contributron IR00,000
.~ Frxed Cost (16,00,00)
ERTT 200,000
- _1pterest CIOOBO0C ¥ I0%4) (100000)
ERT rec000
- Yax ®SO% (sooos)
ERT/ NP for ES S0,000
< No of ES (/000,000 <100) < 10,000
E PS5 L)
a) Operatrng contrrbutron IR0O000 . 6 +Hrmes .
Lexerage EBTT 00,000
b) Frnanca) . EBIT 200000 . 2 trmes
Lexe rage EBT 160,000
¢) Combroned . Contributlon 1ROOOCO . 12 +rmes
Llevera ge EBT 160,000
or
combrped . Operotrng x Froanc cy
Leverage leveroge leyerage
N 6XQ = 12 FH'mMeg .
d) Rerurp ON NP for BS — xio6 - 5000 yimy 2 B %
Investment EqQuuty ghore Coprtal '0,00000

TotCD

Rexrgsed daled (2400000 +600.000) 30,000,000

- varroble C03+

(30,0000 ¥S07) (1900000 )

ontribuNon 1SO00,00
~Frxed Cost (10.00000)
New EBIT SOO.000
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orv
New ESIT -

£ Y A1 3ales = 600000 . ,\n . S
2 400,000

1) operatng Yo & ERIT

Lleveroge Y A S5Ql1eS
6 e A ERTT
¥

YA ERBIT: ¥S X6 = 180 Y.
<. Newd EBRIT = 00,000 +180%, = 00000 .

| Question 6. (PP 1) From the following information extracted |
| From the following information extracted from the books of accounts of Imax Ltd., CALCULATE
I percentage change in earnings per share, if sales increase by 10% and Fixed Operating cost is
11 ¥1,57,500.

" |Particulars )
EBIT (Earnings before Interest and Tax) 31,50,000

' |Earnings before Tax (EBT) 14,00,000
| Solution:
| (WNY) : Ipcome Statement:
Portrcalors Tota)
ontributicn (3180,000 +!57500)
~Frxed Cost 187860
EBIT 310,000
~lnteresd @ (B'S0,000 -1400,000)
ERT 400,000
| @N-2): (ombrned leyerage:
conterbubon . 3307800 | 3,969S #rmes
EST 400,000
| 4. ¥ Chonge D EPS:
combrne . Y« OAEPS 93638 XI0 = Vs 41D EPS
leveroge Yo & 5Qle5 7,000 EPS = R3.635 %
3.3698 . Ye A EPS
0
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The capital structure of PS Ltd. at the end

| The capital structure of PS Ltd. at the end of the current Financial Year consisted as follows:

' [Particulars )] |
| Equity share capital (face value ¥ 100 each) 10,00,000] |
10% debentures (X 100 each) 10,00,000] |

| During the year, sales decreased to 1,00,000 units as compared to 1,20,000 units in the previous |
I~year. However, the selling price stood at X 12 per unit and variable cost at ¥ 8 per unit for both |

|_the years. The fixed expenses were at

1 ¥2,00,000 p.a. and the income tax rate is 30%. You are required to CALCULATE the following:
(i) The degree of financial leverage at 1,20,000 units and 1,00,000 units.

L (ii) The degree of operating leverage at 1,20,000 units and 1,00,000 units.
(iii)  The percentage change in EPS.
| Solution:
(N : Income 3taterment: Year | Yeor2
Portrea oy 130,000 UuNits 100000 UNTts
sares LY 440,000 1200,000
_~_variable (a3t (e) (960.000) (800,000)
CONFTibUION 4) 420000 400,000
— Frxed Codt (200,000 ) (200,000)
ERIT {86 000 00000
-~ _1nterest (1000000 X10%) (100,600) (100,000)
ERT 18000 100000
- Tax @307 ( $%000) (30,000)
ERT/ NP for ES 6000 76,600
3 Noof 5 (1006000+100) + 10000 ~10:000
EPS 126 7
Portreutars 130,000 unr'ts 160,000 _UNrts
f) Fronanca) . EBIT 83000 _ .56 WO . 2
Leverage EBT 180000  +rmes | 160,000 +'mes .

N operatrng _Codtributron YOCO0 _ 1.7 beoooo | o
leverage  EBIT N&BOCO 41 es {00,000  {rmes
(M) Yo &10 12627 «\na . 444y (Reducrion 1h EPY)
EPS [+ 6
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CALCULATE the operating leverage, financial leverage

CALCULATE the operating leverage, financial leverage and combined leverage from the following

data under Situation | and Il and Financial Plan A and B :

Installed Capacity 4,000 units
Actual Production and Sales 75% of the Capacity
Selling Price T 30 Per Unit
Variable Cost % 15 Per Unit
Fixed Cost:
Under Situation-| < 15,000
Under Situation-lI % 20,000
Capital Structure:
Financial Plan
AR) B R)
Equity 10,000 15,000
Debt (Rate of Interest at 20%) 10,000 5,000
20,000 20,000
| Solution:
L p-)  Ipcome dtotement:
Artuarion T Situabon IC
Pattrcurgrs Plan A P10D B Plan B Plan B
- Total contributon 4000  H4Sooo 4 000 4 Sooo
| [Quan#rty © 4OCO X 757, = 3000]
[ contribubign: (30-15)% 3000 = 45000 ]
Frxed COs+ (15000) (15000)  (Q000)  (20,000)
EBIT 30,000 30,000 39000 IS000
-~ Interes+ (R000)  (1000) (Rooc0) (1000)
(P1an A 16,000 xI0% )
(Plan B: 9000 X307 )
EBT {8000 9000 BOCO Y000
. leverages:
Q) Operatrng . Cobtribubian  4S000 49000 4 S000 4 000
leyerage EBIT 30000 30,000 v 5000 ¥SO000
| 1.5 1.5 8 .8
b Froonoey . ERIT 30000 30,000 ? S000 39000
leyerage eB8T {2000 39000 3000 Y000
| Qombrned . AL XFL 1.6 X1.07 L& X103 1«8 X 1409 le® X104
Leve rage A e 66 1496 1.7
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Question 15. (PP 11)

You are given the following information

You are given the following information of 5 firms of the same industry:

Name of the Firm [ Change in Revenue | Change in Operating Income [ Change in Earning per
share
M 28% 26% 32%
N 27% 34% 26%
P 25% 38% 23%
Q 23% 43% 27%
R 25% 40% 28%

You are required to CALCULATE for all firms:
(i)  Degree of operating leverage and
(ii)  Degree of combined leverage.

[\

4

Operating Income means EBIT

Solution:
OPQf‘OHOg 79)(’9!‘099 Combrned VP)IQI‘OQQ
Y A EBIT %A EPS
Frron s A 301e3 ‘v 4 501}
m _R6_ . 0.93 32 Lty
48 q8
N SL’ a ’.’?6 '26 a 0.96
17 17
P 3_8 s 1182 i 2 092
JS JS
) 43 . a7 7 LY
3 {3
R {,o '06 ‘)8 ’S ‘0’2
S ‘S
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The following data have been extracted

Question 16. (PP 12)
| The following data have been extracted from the books of LM Ltd:
I Sales - ¥ 100 lakhs
| Interest Payable per annum - X 10 lakhs
Operating leverage - 1.2
| Combined leverage - 2.16
| You are required to calculate:
- (i) The financial leverage,
| (i)  Fixed cost and
(iii)  P/V ratio

Solution:

-V Frnanaay 1exerage
ombrned . operatng x Fnonaa)

leverage lexerage leverage
BIG = le X FL
< Froongay rewveroge- 16 - 1.8 H'mes,
le

L@N): Income  Statemment:

1.8 EBIT- EBIT = 900,000
0.8 EBIT = 800,000
EBIT = 2350,000

‘Qles t 00
~yorrable (At T300,000) (16000,000- 2700,000)
Contrrpuon (LON-3) 700,000
~fixed COs4 490,000)  (RTOCO00 =213 SG,000)
€8T (WN-2) W SO000
—_dntere s4 10-00,000
E8T 13 $0,000
(wN-2) EBIT (L N-3) : ContrbupMon
Froanaey . EBIT . operarrng . Contrrbubon
leverage E®LT- InRrest  :  (exeroge CERIY
g - EBIT 1.2 = Contribution
ERTT -10,00,000 : Y S0,000 |
8 ( EBIT -10,00,000 = EBIT - Contributront 162 XALE0,000 |
1L.R EBIT - IROO,000 = EBIT = 700,000
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! )

1) Hxed (0%t= (WN-) - R$.330,000 .

M) Profr+ Yolume Ratro:
ContrrowHon <100
LYo 1Y

700,000
160,060,000

K’OO - ‘1770

extro Income statement: (Short cup)
oL i
sales 10000000
~yorrable (dst 730,000
Contrrpwon R 700,000
-fixod Costs  6:2  HSOOO0

€B81T ! ANSO,600 W8
~_dnteress 10,006,000 048
EBT wWSo,00a |
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Consider the following information

I Consider the following information for Mega Ltd.:

| Production Llevel 2,500 units| |

| | Contribution per unit 3 150] |
Operating leverage 6

' |Combined leverage 24 |

|| Tax rate 30%| |

| Required:

COMPUTE its earnings after tax.

Solution:

1. EOrnr'ng afes tax

contrrbuion (S00X I1S0) 378000
~Frxed Cos+ 318003 (379000 -645006)
EBLT  (ONA) ©Y¥<00
- Interest Hh687S (64500 -1 564
EBT  (wN-3) 15695
- Tax @ 30%. (4688)
ERT 10937
L (ONY) - EBTT (wnN-3) EBT
operatng . Cootribubron . Fmahow _ EBIT
Lexerage ERLT leyeroge EBT
6 = 37SCCO y - B3SO0
ERIT EBT
L ERTr= 375000 . ¥SO0 ERT = _64S00
6 9
EBT = 16635

L N-2) *frooncyad kRyerage
Combrn ed
lewerage lexerage

LY = 6 x FL

2 Frnonge) fewerage:= 1% . g
6

. Operatrng  FA0ONrQY
lexeraqge
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Betatronics Ltd. has the following

| Question 11. (PP 6)
| Betatronics Ltd. has the following balance sheet and income statement information:

Balance Sheet

Liabilities () | Assets )
Equity capital (X 10 per share) 8,00,000 | Net fixed assets 10,00,000
10% Debt 6,00,000 | Current assets 9,00,000
Retained earnings 3,50,000
Current liabilities 1,50,000

19,00,000 19,00,000

Income Statement for the year

Particulars )] |
Sales 3,40,000] |
Operating expenses (including ¥ 60,000 depreciation) 1,20,000
EBIT 2,20,000 |
Less: Interest 60,0001 |
Earnings before tax 1,60,000] |
Less: Taxes 56,000] |
Net Earnings (EAT) 1,04,000

(a) DETERMINE the degree of operating, financial and combined leverages at the current sales |
level, if all operating expenses, other than depreciation, are variable costs. |

(b) If total assets remain at the same level, but sales (i) increase by 20 percent and (ii) decrease
| by 20 percent, COMPUTE the earnings per share at the new sales level? |

: Solution:
L (@nN-n - InCome statement sared Increase Jdales pecreqse
Pantreators Present by <0~ by <0x
30104 390000 402000 A7000
- Yorrobte (ost (60600) (79c00) (42000)
Contr! b on ? 80,000 3360600 L4 000
- Frxed (031 (Deprecatin) (60:000) (60,000) (60000)
81T 235,600 RT6000 164000
- Interest (60:0c0) (60000) (60,000)
EAT 160000 /16000 1ONO00
- Tax ®3ISV ( 560C0) (75600 (36400)
EBT | NP for Bs 104000 140400 67600
< NO Of B35 (800000+0) + 8000 + 80,000 +80,000
. EPs le 3 1676 O«S
WA Tax Rote:
Fé}%moo - 3S%
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N
Q) heyerages: Ccurrent lexe))
() Operatrog - (ONHFTDUHON Q80000 . 1,37 Hmes .
Lexeroge EBIT Roeco
M) Frnanc@ = _ERIT 22000 | .38 H'mes
lexerage EBT 160,000
m Combrned . Contribubign . Y2000 . |75 +rmes
D) EPs C(Refer (oN-1) :
) TF dales increQse by 07z = 174
i) IF 3ares decrease by 0. = 06-&S
4
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The following information is related fo Yizi

| Question 4. (Illustration 4)
| The following information is related to Yizi Company Ltd. for the current Financial Year:

'| Equity share capital (of ¥ 10 each) X 50 lakhs| |
1112% Bonds of ¥ 1,000 each % 37 lakhs| |
'|Sales X 84 lakhs| |
Fixed cost (excluding interest) % 6.96 lakhs
'|Financial leverage 1.49] |
| Profit-volume Ratio 27.55%| 1
‘| Income Tax Applicable 40% | |

| You are required to CALCULATE:
(i)  Operating Leverage;
| (i)  Combined leverage; and
-(iii)  Earnings per share.
| Show calculations up-to two decimal points.

| Solution:
LN - Income dratement WN-): EBT
PQr+ICCIIQrd e Totcy froanco@ _ _EBIT
. 301e3 o} 400003 leverage EBT
. =yarroble (034 @ (6085800) 4q = 1618400
. Contribudron 768 314200 EBT |
. —FI'xed CO3+ (696000) % EBT = 161200 _ 1086040 |
. EBRIY 1618200 ls4Q
| - anteresk (161800-10860 40) @
EBT (eoN-2) 1086040
- Tax @ %Yox (L434Yy16)
EAT | NP For B4 65164
* No Of F4 (5000000<10)  +500000
EPS 1630
h Operatng = (oofribwtion . 28314200 43 trmes
Lexerage E81r I'6rgloco

tH Combrned |, Csnfrerbuwtreon . A3 1H 00 s 13 Hrmey

fm) EPs= 1«30 (Refer wn+) .
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The following particulars relating to Navya Ltd

Question 13. (PP 9)
| The following particulars relating to Navya Ltd. for the year ended 31 st March is given:

Output 1,00,000 units at normal capacity| |
Selling price per unit T 40
Variable cost per unit 320
Fixed cost ¥10,00,000

| The capital structure of the company as on 31st March is as follows:

Particulars X
Equity share capital (1,00,000 shares of 10 each) 10,00,000
Reserves and surplus 5,00,000
7% debentures 10,00,000
Current liabilities 5,00,000
Total 30,00,000

-Navya Ltd. has decided to undertake an expansion project to use the market potential, that |
| will involve 10 lakhs. The company expects an increase in output by 50%. Fixed cost will be |
increased by 5,00,000 and variable cost per unit will be decreased by 10%. The additional
| output can be sold at the existing selling price without any adverse impact on the market. ‘
I~ The following alternative schemes for financing the proposed expansion programme are planned: |
(i)  Entirely by equity shares of ¥ 10 each at par. ‘
| (i) X 5 lakh by issue of equity shares of X 10 each and the balance by issue of 6% debentures |

of ¥ 100 each at par.
| (iii)  Entirely by 6% debentures of ¥ 100 each at par.
FIND out which of the above-mentioned alternatives would you recommend for Navya Ltd. with |
|_reference to the risk and return involved, assuming a corporate tax of 40%.

| Solution:
| eoN-) . New dhares & Inferest .
Partrcuig g OpHOO | opHon 2 optian 3
Bquity Capra) (Joeach) 10,00,000 500,000 -
67 Debenture - 500,000 16,00,000
Totcu 10,000c0 10,0000 16,00,000
NEWY:
NO oF E3 100,000 50,000 -
(1600000 +10) (500,000 <10)
Ionterest on pebenture - 30,000 60,000 .
(500000 X67.) (1600000 X 67) |
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4. _EBIT

PartreaIQrs Cyrrent AfRr _exponsion
buring Price pu 4o Yo (same)
-~ Yarraple Cost pu (Ro) ug) (R0 - 10%)
Contribuwtion pu Y0 a2
x_No of unrts x 100,000 X 180000 (100,000 +507)
Contributan v0,00000 3300,000 |
~frxed Cos4 (10,00,0C0) (1500,000)  (10,00000 +800000)
EBIT 1600,000 [RCOOO0

- . Income storement: p-Ffer Expondiom .
Part1cuIQr4 corrent+ opticN! OpHion 2 opion 3

ERIT 1006000 1800000 If00000  1REO,.000
(ro000) (7r0,000) (aooo ) (130,000)

~ Interes+
(current: 1000,000 X7%) (70,000 +30,000) (TGO0OHERA00)
ERT 930,000 1730000 1700000 670,000
~ Tax @40 (379000) (692000)  (6R30O00) (668000)
EAT)NP For €5 SSROCO 1032000 100,000 1002000
< NOo OF ES < 100000 < Q0000 + 19000 <100000
(cyrrent + New) (10000 +Honaoo) (10000 +FHAA)
EPS 6.58 5e 19 68 10.02
oL = Contributicn 000000 3300000 $3000C0 $3000C0
€81t 1000000 1800000 180C0000 18CO000
2 1,83 1:83 1,83
FlL= EBIY 1000000  180C0A00 I18CO00 18COa00
ERT 930000 1730000 1’70000 1670,000
.08 1YY ls06 160 8
L= OLXFL X 1.:08 L83x):04 1.83%I1.06 1.83%1-08
16 1:90 .94 le 98
Rrsk lowest lower Hhan Highest
Optron 3
Reward : lowest lower Hhan Highest
Optron 3
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. 1. Navya Ltd. is ready to take a high degree of risk, then alternative (iii) is strongly recommended. |

2. In case of opting for less risk, alternative (ii) is the next best option with a reduced EPS of

Rs. 6.80 per share.

3. In case of alternative (i), EPS is even lower than the existing option, hence not recommended.

Question 5. (Illustration 5)

Following are the selected financial information

| Following are the selected financial information of A Ltd. and B Ltd. for the current Financial

Year:
A Ltd. B Ltd.| |
Variable Cost Ratio 60% 50%| |
Interest % 20,000 ¥1,00,000
Operating Leverage 5 2|
Financial Leverage 3 2|
Tax Rate 30% 30%| |
| You are required to FIND out:
- (i) EBIT
(i) Sales
| (iii)  Fixed Cost
(iv) Identify the company which is better placed with reasons based on leverages.
| Solution:
W)« InCcome dratement:
parHreUIQrs A 14d 8 J4d
dales 106 | 375000 leo | foo000
~vatrable (03t 60 | R3SO00 50 | 400,000
Contributron (ON-3) 96 | 150,000 50 | 400,000
- Frxed (o34 (10,000 200000
EBIT (LON-2D 30,000 R0GC,00C
- Interes4 (0,000) (100,000)
ERT 10,000 100,000
-Tox & 307 (3000) (306,000)
EAT To00 70,000
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N~ : EBIT

Frooncray . EBIr

leyrerage EBIT - Interes +
A 140 8 E¥e)
3 . EBIT 2 o EBIT
ERIT- 20,000 ERLT- 100000
3 EBIT -60000 = EBIT QEBIT-00,00C = EBIT
2 EBIT = 60,000 EBIT = 00,000

WN-3): 0Nt burron

operarng . _ @oOtribkHan
LeyeraQe EBIT
A 1+0 8 l4d
. Contributron 3= contrib UHID
30,000 00 O00
: Contrrbetron = 160,000 s confrrouh @ = 400,000
Pactreariors R b2}
q. ERTT 30,000 R0GC, 000
2. sales 378000 F¥OOLOO0
3. Frxead (03+ 10,000 Q00000
4 comment:

company B rs berter +han Ccompony A becquse OF Following
req<ons .

o) Interest coverage Ratlc = (EBIT < Inferest)

company @ Company B
30,000 _ 1.5 Q00,000 . 2
Q0,000  +rmes 100,000 HMes

capauty OF company B to pay fnrerpdf I's  berer +han
company H.

b Froohga) RIsK:

company A (ompany B
Frnanaga lexeroge 3 trmes 2 +1rmes

Cormpany 8 has feast Froanuo risk
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A company had the following Balance Sheet

Question 12. (PP 7)
' A company had the following Balance Sheet at the end of the current Financial Year:

Liabilities ) in crores |Assets (%) in crores
Equity Share Capital (50 5 Fixed Assets (Net) 12.5
lakhs shares of ¥ 10 each)
Reserves and Surplus 1 Current Assets .5
15% Debentures 10
Current Liabilities 4

20 20

| The additional information given is as under:

Fixed cost per annum (excluding interest) % 4 crores

Variable operating cost ratio 65%

Total assets turnover ratio 2.5

Income Tax rate 30%
Required :

| CALCULATE the following and comment:
(i) Earnings Per Share

| (ii) Operating Leverage

(i) Financial Leverage

L (iv) Combined Leverage

Solution:
Y. EP3 (¥rocH (N-D: dales
Partr cenors To ta Tota) R3ied . Sales
- 3o (wn-1) 100 50 Turnover rato Totcd R33es
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From the following information, prepare

| Question 8. (PP 3)
From the following information, prepare Income Statement of Company A & B:

' |Particulars Company A Company B
" |Margin of safety 0.20 0.25
| |Interest X 3,000 32,000
| | Profit volume ratio 25% 33.33%
Financial Leverage 4 3
| | Tax rate 45% 45%
| Solution:
4. Income 3rOorermendt:
Part1rcaoes Cormpany A (ompany B
sa1e3 loo (?) 30000 160,(%) 36000
- varigble (O3 76 () 0005 66.67,(7) 4000
Contri buNon (ON=3) vs 0,000 %333 1000
~ Fixed (O3t D) (9o00)
EBIT  [woN~) Y000 3000
- Intereas (3000) (v000)
ERT 1006 1000
- Tax ® 457, (480 (4 s0)
EAT Gco $SB
(D NA) - EBIT
froaocray . _EBIT
lexeroqe EBLT- Interes+
cormpany A comeagny B
§ = EBIT 3 o EBIT
EBIT- 3000 EBIT-000
Y EBIT-~1000 = €BIT 3 EBIt-~ 6000 = EBIT
3 EBIT=I000 QESBIT = 000
€BTT = 4000 EBIT= 3000
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Logic
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The Sale revenue of TM excellence Ltd.
Question 10. (PP 5)
| The Sale revenue of TM excellence Ltd. @ % 20 Per unit of output is T 20 lakhs and Contribution |
1 is ¥ 10 lakhs. At the present level of output, the DOL of the company is 2.5. The company does |
| not have any Preference Shares. The number of Equity Shares are 1 lakh. Applicable corporate |
| Income Tax rate is 50% and the rate of interest on Debt Capital is 16% p.a. CALCULATE the EPS

(at sales revenue of ¥ 20 lakhs) and amount of Debt Capital of the company if a 25% decline in |
| Sales will wipe out EPS.

| Solution:
3, EPS:

Partr cenqrs To ta) (toN-1): EBIT
- 3ares 20,006,000 Operatrng . CONPIbLLHCY
- variable Coat (Oﬂ%@ lexerage  EBIT
_ COPFFDUITON 1000000 %5 . 1000000
- Frxed Cos+ @ €EBIT
- EBIT (LON-1) 400000 ERIT. 000,000
~_Interess (1s6000) S
 EBRT (toN-3) {0000 EB1T: 400000
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CALCULATE the operating leverage for each of the four firms

| CALCULATE the operating leverage for each of the four firms A, B, C and D from the following |

- price and cost data:

Firms
‘ A R) BR) CR) D)
Sale price per unit 20 32 50 70
' | Variable cost per unit 6 16 20 50
| Fixed operating cost 60,000 40,000 1,00,000 Nil

What calculations can you draw with respect to levels of fixed cost and the degree of operating
| leverage result? EXPLAIN. Assume number of units sold is 5,000 |

Solution:

(N In@me 3taternent:

1. Operating leverage exists only if there is fixed cost.
2. Operating leverage of firm D is 1, it means 1% change in sales will lead to 1% change in EBIT.

(i.e.no magnified impact)

3. In case of other firms it exists un following order.

Firm A = 7 times
Firm C = 3 times
Firm B = 2times

4. In case of Firm A it is 7, it means 1% change in sales leads to 7% change in EBIT.

Particurors 2 2} C D
se11/nqg Price p-U. 20 32 So 7o
-varrabe (04t p.u. (6) (1g ) ( 20) (S$o)
Contrrbudron p.u 1% 16 30 )
X _NO OF 0NTrts * SO00 XSO00 xSO00 XSo00
Totod (ontributfon 70,000 80,000 190,000 160000
- Fixed COSt (Go000)  (46,600) (100,000) -
EBIT 15,000 40,000 BOC0  1egom
1. _Operattng lexerage
Particuriard A ) ¢ D
Contribxetran 70,600 89,000 1S0000  toe.0oo
ESTIT 185000 45,000 NeYoos! Cocm
| *? 2 3 ,
Comments:
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The following details of a company for the year

| The following details of a company for the year ended 31st March are given below:

| Operating leverage

| [Combined leverage

| | Fixed Cost excluding interest
Sales

| [8% Debentures of ¥ 100 each
+-[Equity Share Capital of ¥ 10 each
| [Income Tax Rate

2:11
2.5:11
X 3.4 lakhs| |

¥ 50 lakhs
3 30.25 lakhs| |
34 lakhs| |
30%| |

| CALCULATE:

(i) Financial Leverage

(i)  P/V ratio and Earning per Share (EPS)

| (iii)
low assets turnover?

| (iv)

Solution:

(N : Income  3rotement:
_Partreeyrars _1eta)
jQles 5 o00
~ yarropte (03 ﬁg}@
Contri b on (wN-2) 680000

= Fixe0 COst (390,000)
ERIT 340,006
epT (eon-3) Q79000

~ Tox @®30% gl6co
EQT 1904900

2 No 0F E4 (3400000%10) 340000
E P3 0.S6

1. Froanua texerage
| Combrned . Operating o froancre)

| 1rexerage leveroge leve rage
2205 s 2 x Frignu@ lexveroge
L Frnono® = S L [W9S
leveraqe R

If the company belongs to an industry, whose assets turnover is 1.5, does it have a high or |

At what Llevel of sales, the Earning before Tax (EBT) of the company will be equal to zero?

(WN-2): conttrbuetan .

Operatrng Conterbution
Levero ge Conttipution - FC
2 » Contribwdron

Contri bLon ~ Mo)OOO:
2 CONHTDUMNGN - 680,000 =COnfHbeton
2. Contrrbudian = 680,000

(wN-3): EBT
Frnancre . EBIT
leyerage EBT
led6 39000
EBT

:, BT = 3%0000 | 373000 .
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_ 683630 xing = 1346 7.

satres

5000000

b EPs= B-656 (Refer won=)

11D a) Total Assel = EQUUIty 3hore COPIr'tad + 82 Debenture
= 3YeoL000 + 3098000
= 6YSOO0

by Totaw Assey Sales
Turnsver Roho Tota) A3ders
- 50,00.000
6 SO00
= 678

¢) Company has

Indu sty

L 1y) d0red Amount where EBRT = zero:

low 033ed turnover a3 lomparegd 1o

dares 100 @ s
- varraple (03t _ B6-4 XSIRG00
contributron 136 HOROCO
~ FIKed (034 (3490000)
EBIT 68000
- Intorest (6R00G)
EBT -
ex+rQ: | CE
EBIT 340,006
- Interesd @ (30Rs000 % Bx)
ERT (-9 g8
~Tox ®30% (RN0c)
EAT 68600
2 No 0F B4 (3400000+10) 340000
E P3 OO




